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H30 |H31 [R02 [RO3 [RO4

A11-001 L=1.0km [ I B A B | 559
A11-002 L=0.4km [ I B A B | 327
A11-003 L=1.0km [ I B A B | 400
A11-004 L=1.1km [ I B A B | 184
A11-005 L=1.3km LI I 289
A11-006 L=0.4km [ I B A B | 374




H30 |H31 [R02 [RO3 [RO4

A11-007 L=0.4km n n 85
A11-008 L=1.0km n 50
A11-009 L=1.0km n 50
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H30 H31 R02 RO3 RO4
@) 115 299 243 117 9

(b) 0 0 0 0 0

(c=a+b) 115 299 243 117 9
(d) 0 80 266 331 199

) 35 113 178 249 189

) 80 266 331 199 19

@ 53 203 212 47 0

(h = ct+d-e-f) 0 0 0 0 0
(i = (g+h)/(c+d)) 46.08 53.56 41.65 10.49 0
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